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#include <iostream>
#include <vector>
#include <algorithm>
using namespace std;
struct record
{
int time, process; //timefUZREARS A, 79M00:00:00FHELITAIFIEL
%
bool compare(record a, record b)

{

return a.time < b.time;
}
int main()
{
const int EIGHT = 8 * 3600; ///\FE{tEHFIEL
const int SEVENTEEN = 17 * 3600; //4+taFEaFEL
int N, K;
double totalTime = 0.0; //FFBEMREHIE S0 E
cin>> N >>K;
vector<record> records; //TFEFTEICRE
for (inti=0;i < N;i++)
{
record newRecord;
int hour, minute, second;
scanf("%d:%d:%d %d", &hour, &minute, &second, &newRecord.process);
newRecord.time = hour * 3600 + minute * 60 + second;
if (newRecord.time > SEVENTEEN) //#0&REF17: 00NIAIF A
continue;
newRecord.process *= 60; //43$4&HAFD
records.push_back(newRecord); //FINFNCSR
}
sort(records.begin(), records.end(), compare);
vector<int> linesTime(K, EIGHT); //B MBS FIIRIE), MRt ER N8 =
for (inti = 0;i < records.size(); i++)
{
int min = linesTime[0], index = 0;
for(inti=1;i <K i++) //AHEERRETAEI—MMMIEENEO
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{
if (linesTimel[i] < min)
{
min = linesTimel[i];
index = i;
}
}
record r = records[i];
if (linesTime[index] <= r.time) //>REYAYIEIRET-ES C5SRkAT— MM ERAYAT E]
{
linesTime[index] = r.time + r.process; //ZARYEINIZIERT BB OS2 EIRNIEAYAYE)
HEAER0, TEEH

}
else //3kA9BS B R FEO FREI—MEERAYRTE]
{
totalTime += linesTime[index] - r.time; //Z&FAYEI0_ L& OSSR IEAYAY BIRELX

IE]
. linesTime[index] += r.process; //BHO5Eak=BIIERIRT B ASEAEI— MM ERFIRTEIINZL
A8
: }
if (records.size() == 0) //IRBRIEHEN, BEiEHEH0.0, EAOREEIERRE
cout << 0.0;
else
double average = totalTime / 60.0 / records.size(); //itEIHEERTE (B ADER)
printf("%.11f", average);
}
return O;
}
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